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Math Summer Assignment for 

Integrated Modern Algebra
Wall Township Math Department 
Optional Summer Assignment 

★ This summer assignment is intended to prepare you for the math course above. 
★ You will find examples and video links to help you complete the practice. 

Skill 1: Factoring 

Helpful Video Link: 
➔ Factoring 

Practice: Factor each completely. 

1) 𝑥2 + 6𝑥 − 7 2) 𝑥2 + 9𝑥 + 14 3) 𝑥2 − 3𝑥 − 40 

4) 𝑥2 − 4𝑥 + 3 5) 𝑥2 − 16 6) 4𝑥2 − 9 

https://www.youtube.com/watch?v=v0dhpNnzZjA
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Skill 2: Graphing Linear Functions 

Helpful Video Link: 
➔ Graphing Linear Functions 

Practice: Graph the given lines. 

1) 𝑦 − 3 = 3(𝑥 + 1) 2) 𝑦 + 2 = (𝑥 − 1) 

3) 𝑦 = 2
 1 𝑥 + 3 4) 𝑦 = − 4𝑥 − 5 

5) 2𝑥 + 𝑦 = 4 6) − 5𝑥 − 2𝑦 = 10 

https://youtu.be/Ft2_QtXAnh8?t=890
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Skill 3: Solving multi-step linear equations 

Helpful Video Link: 
➔ Solving Multi-Step Linear Equations 

Practice: Solve each equation. 

1) − 3𝑥 + 8 + 7𝑥 =− 16 2) 7(5 + 𝑘) = 0 3) 4(8 + 2𝑥) + 8 = 80 

4) 6𝑚 + 6 = 2𝑚 + 4𝑚 5) 11 + 8𝑝 = 𝑝 + 4 6) − 10 + 6 + 5𝑥 − 5 = 𝑥 − 5 

https://www.youtube.com/watch?v=3KfhXxUDG-Y


  

Skill 4: Average Rate of Change 

Helpful Video Link: 
➔ Average Rate of Change 

Practice: Identify the average rate of change. 

1) 𝑦 = 2
3 𝑥 − 1 2) 𝑦 = 1 3) 3𝑥 − 8𝑦 =− 32 

4) 𝑥 = 5 5) (− 7, − 8) 𝑎𝑛𝑑 (4, − 18) 6) (6,  13) 𝑎𝑛𝑑 (13,  0) 

https://www.youtube.com/watch?v=f_Q0qlwlclQ
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Helpful Video Link: 
➔ Polynomial Operations 

Skill 5: Polynomial Operations 

Practice: Simplify the following. 

1) (3𝑥 
2 − 2𝑥 + 1) − (4𝑥 + 2𝑥 

2) 4) (3𝑥 + 5) 
2 

2) (3𝑥 − 1)(4𝑥 + 5) 5)(− 2𝑥 
5 − 3𝑥 

3 + 4𝑥) − (3𝑥 
3 + 2𝑥 

3 + 1) 

3) (5𝑥 
4 − 3𝑥 + 2) + (3𝑥3 − 𝑥 

4 − 4) 6) (4𝑥 
2 − 5 + 2𝑥) + (3𝑥3 + 5𝑥 

2 − 4) 

https://www.youtube.com/watch?v=ZvL9aDGNHqA



